SEEFF

¥iE 5H248 12:10
R 58248 13:30
700m
rhEesns% 10. 67
B ch=EE 8% 10. 84
E-Lk 11.4
iR BREE 248 3%F + 2 OCIEHIEERE o: %4 LIEEBE
[1#] =AZFE -0.9 [ 2481 FRFE +0.5
J&] b-» | No. K £ rE% ik lEE | [IE] V-v ] No. K £ g% iix/EE
1 4] 8146[fE X K& X (3) 11.95Q 1 4] 8083|F#H mA®Q) 12.53°Q
H+ 19t B M Y394 EEA
2 5| 8086|#&%k FEF Q) 13110 2 6| 7873|215 EHE®Q) 13.94°Q
) )hh EEREA 10 9% HEEA
3 6/ 7871|5H A Q) 13.20 Q 3 7| 8203 EE ® (@) 17.57Q
198 Y vy EEA 1Y 19b B A
4 2| 8144|FAHE #%7%E Q) 1417 q 2] 82498 K EKXKO)
199" 19% i b h1% Jadg;ii| EIE
5 7 7811 &% pNE) 15.85 q 3| 8082|[mHE HE (3)
NTh 54 EXR N34 MTE EEB ZiE
3| 7962|HiIE B (3) 5 7993/t EKXO)
THYY 5h J\R £iE MATY Y9 i) EiE
8| T934|FER HE@Q) 8| 71933|FE BFO)
hIng I4b +B8h £iE 1by 19% +8H EiE
EE 0.0
J&] b=y | No. K £ rE% Y B
1 7| 8146|fE < RI&EX (3) 11.92
#HE 19b B
2 4] 8083/FH EmAEM) 12.51
M Yans EEA
3 5/ 8086|F%k FE (3) 13.07
Bt Usk EEA
4 8| 18T1|5HE EAO) 13.11
V) TEA
5 6/ 7873|515 &) 14.05
1IN %% TEA
6 2| 8144|FH & Q) 14.19
18" 19% 3171
7 3 7811 & pNE)) 15.98
Nth 54 ER
9/ 8203|EE &3} ()
Th' Y 1b 2% A E3i5

15




3EFF
1500m

e E0 8% 3,56.20
I8 thsP R R 3,57.82
SERER 4,17.30
B No. K & B4 iR =
1 15| 8081 |/BAZEKEA (3) 4 30. 41
B433m 1)anhnn ERA
2 12| 79940 %EHFEQ) 4 34.92
D4FA" pEER 1EHT
3 14] 8143|5% BN Q) 4 43.55
AN a9k B
4 6| 7783|5718 EKQ) 4 47.75
V¥ 194 wEFHA
5 13| 8085|EiZ #Fn=z (3) 4, 49 87
D8FA" AR 1% EREA
6 7 7931|HAFNZH(3) 4 52.14
599 sh7% +B8h
7 10| 8141| K\ HXQ) 4 53.88
T4y 194 371
8 11| 8207|@%& T 1% (3) 4 54 52
79" &b 19 =2FA
9 9] 7903|/h#k  ERIK(3) 4 55 49
an vy YIavs =RA
10 5| 8202|'# & HRE(3) 4, 56.02
YT Y9 =2FA
11 8| 7901 |#@ 1% (3) 4 56.56
Y97 19 =XA
12 2| 8087|uA& 1EE (3) 5,00. 54
YEN Vavrhy EREA
4] 7902[hiE E3 ()
VR =RA £iE
Sy IR FN— 08k
400m 12 1:11
800m 12 2:25
1000m 15 3: 01
1200m 15 3:35

15

5H24H

[12:55 |




